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1.(20%) Use the graph of the function f to find lirg_f(xj, 2| "
X=>

lim f(x) andlim f(x) if the limit exists. LR
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2.(20%) Find the derivative of thzfun&?ons.—/
2x x0.3 4 ——___.
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3.(20%) Inthe diagram, S represents
the position of a power relay station g e
located on a straight coast, and £ shows

the location of a marine biology

experimental station on an islanﬂd.% R _'ium,,,l 'f,_:_;;]_: \ 5
, P

cable is to be laid connecting the fefay (_ S

' . i ; R ST
station with the experimental station—— " !;_ e iiea
If the cost of running the cable on lard— -
is $ 5/running meter and the cost-of runningthe cable under water is $ 13/running

meter, locate the point P that will result in a minimum cost (solve for x).
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4.(20%) Please evaluate the following integrals.

(a) J.°(22x — 48x?)dx

(b) [ ((4x —1)e*=*-2% + 7x@§_‘ ;

x

5.{20%) Use Lagrange Multipliers to solve/the problem. Find the maximum value of
f(x,y) = 2xy subjectto x> +y* =8 —
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